tors turnover ratio :
0

Pindont Qb . |
i 000
srodit sales 25,
Annual res
; 1,000
Returns Lo
Debtors k ¥
Bills recoivables 1,00
b Q ;
M8 TR pSTET D_u.mﬁ‘éf cre) Qacay S
= :E?Wm;;}. Mm@\mﬁ@ g gw Qois. o
iy 30.6. .
ety S112:200 g ‘
B e art@muy | 16.
FORE - L
A0 4,000 : |
| : ; 10,000
Y 50,000 £,000

repare a production budget for the

2 " ired to P i .
You a1 requin 5 from the following information ;

vesr onding June 201

Actual stock on Desired stock on

Product Budpeted

sales 31,12.2014 30.6.2016
X 20,000 4,000 5,000 |
Y 0,000 5,000 10,000
Or D

(@) &pasan SapmssSmps
N podQurps e dsdon Caugur®
@ oQuipd S Capur@

() gadrQungser souy Cagur®

)

welBungd uwdun® Caugun@ < fuapop

|
57 ey oD [
400 &3n 460 ACar i
&gy . 15 ACurayi

®. 690

S.No. 9389 T

Caleulnto :
0]
(1)

Mutorinl cont varinneo ZS g AsP s

$oet

Materinl price variance
(i)  Mnterinl mix variance
(iv)  Materinl utility varinnce.

Standard Actuanl
Quantity 400 kea 460 kgs
Prico Rs, 2perkg  Rs. 1.5 per kg
Value Ra. 800 Ra. 690

(@) 0  Es®d PlpHps @ 1000000  apesems
Camauiu@Apg. oipd e areb 5 BETHET ED. GO
AG-HADE @ 300000 amanh mlgd SHL e
srfiruridsiiu@Apg. e aupaumi Cuuinntend wHpb afiss
(aufl 50%) gpasemsiiulL g <Eh. Aobu  oeflEsn
snegfldan Ly, QAL s wHLOGs. )
A project requires investment of Rs. 10,00,000 and has an

expected life of 5 years. It is estimated to vield Rs. 3,00,000

P.A. before depreciation and tax (Tax rate 50%) ascertain
payback period.

Or
() epoper aupey Qeaas S sHa gpeopaendn Sarfasays.
Discuss the methods of capital budgeting.
SECTION C — (3% 10=30) _
Answer any THREE questions.
16.  Guaorawea sevsfudian patenad whHpo eowsst upi aé.w&;@s.

Explain the advantages and disadvantages of management
accounting. ;

17, 8 o@soposs 8 foosus sn @b SeuOSET Gsnaumony |

Qurptiesrl 12014 31122014 Qemggasar  1.1.2014 31.12.2014
. © © o
wsd 750,000 625000 Qpasn 51,000 40,00¢
sLfpGsrt 29000 25,000 sLamalsdr 20,000 17,00
5
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(&) & soiEstium

Qendgidedt

. .
ardfmiy 8,000 13,000
aaid 100,000 80,0p9

ReradQenggssdr6,00,000 5,00,000

_—
7.79.000 6,50,000
_—

a) SRE QROTR SRULSERD Qdda

oo QenggsmmGur

QriEiT adg dpsCar Qoo

Srrds pUL alidesaw swunt Qeds,

Srstement of fingncial posi

balow :
Lishiies 1.1.2014 31.12.2014
Rs. Rs.
Capital 7,590,000 6,25.000
Creditors 29,000 25,000
7.79.000 6.50,000

Addidonal information :

{8) There were no drawings
@) There
assets.

tion of Mr. Arul Murugan is given

Assets 1.1.2014 31.12.2014
Rs. Rs.

Cash 51,000 40,000
Debtors 20,000 17,000 °

Stock 8,000 13,000

Building 1,00.000 80,000

Fixed assets  6,00,000 5,00,000

7,79,000 6,50,000

were no purchase or sale of either building or fixed

Prepare a cash flow statement,

18 &p&smani Sagiaadmps) Beuyfas giloeu St Qews,

(&) perwpop wso

(%) sn0ud s ofup

() «id Gmd)mmmup}y
(") Py a@sn

(2) Bfraw Rk

(=) efawurem §g BSsnar Heow Qenggaser

() BerLamn Qumgiiyser

®
75,000

1,00,000
60,000
175
116
0.75

TEIQb Qdma
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112014 3, 12,2014,

| S I Lh—;

;
I'rom the following infurmuuun Prepare 4y, |
0 v a 1% 'RHCD
* Rhee

Rs
) Working enpital
75,000
M) Renorve ang nurplug
100,000
)  Bank overdraft,
60,000
(d)  Current ratio
175
(@) Liquid ratiq 113
15
(0 Fixed nsgoty to proprictor'g fund 0.75
iy
(®)  Long term linbilities Nil
Ni

Apdiarorpyiin efleuntismer 60% Qg

U"ﬁ*‘?j@ﬁ‘“ﬂ o)
whpib 100% Qaum’:uru;q‘mg, -

e Q'rbﬂ@::q QLL-S@.; &g

G0% Qamdn.muq.gbmmr 2HUSH ~ 600 510

plQuinamer ~ 2A0G Genfling, 100
Jaed) — DAOG Ganflipe, 40

Qe mer — AV Genrdling 10
Gueraramin Qsqaysar . 30,000 (60% Aeaurag)

Dp Aseeysdr @. 40,000 (40% ;ﬂmmummg)

TFrom the following data for a 60% activity prepa
budget for production at 80% and 100% activity.
Production at 0% activity — 600 units

Materials - 100 per unit

Labour - 40 per unit

Expenses - 10 per unit

Administrative expenses Rs, 30,000 (60% fixed)

Factory expenses Rs. 40,000 (40% fixed)

AT rs ’
SR R SRR
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Cpirey Qaiiss,.

QupHro X Guphyo Y

afiunrtae @upHobHen e 4 qupLrgeT 5 eu(HLrbger

QuipHosHean oi_sseilame Rs. 18,000 36,000
adirunisgn sfley apatd Gailuiy 1,000 1,600
adiunisg@w Cpry seludie Galluy 12,000 16,000
s Ose urmofliy Gsway 1,600 2,000
& Opd Cupuniame Geway | 2,400 3,600

cuflerw gelliTés.

Based on pay back period and accounting rate of return, select
the best machine from the following two machine.

Machine X Machine Y

Estimated life of machine " years 5 years
Cost of machine Rs. 18,000 36,000
 Estimates savings in scrap - 1,000 1,600
- Estimated savings in direct scrap 12,000 16,000
Additional cost of maintenance 1,600 2,000
'Additional cost of supervision 2,400 3,600

' " Ighore _taxatiori.
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